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| total event counter |

y: events

Entries 1097
Mean 0.5593
0.2361
| L2 time used per input event | Entries 1032
— Mean 5.243
=70 ) e S S S P ST PRP SUPPSPPPRT SO
RMS 1.76
300 St S s SO
30 P SR .........................................................................................
200 St S -------------------------------------------------------
150: .................................................................................... E .........................................................................................
100_— ------------------------------------ -----------------------------------------------------------------------------------------
50 :_T .................................................................................... .........................................................................................
N = T N I S R B S R R S
0 50 100 150 200 250 300 350 200




